SRR BT O MED

= D= ] '4}=I S M REB= BTV, UNTE=L IR S 44)

-

r .
EFRIESeREE00R TR )
R (ISICAIRE 1K) ICETERCTHRNSH |

L7 'Y= —
BREIFFRINIEEIC/IBIE !
N HITBREBHCBESFRE H27~R1) _ 7
a5 (AN mREIG0~12 B) 1 BRSO HITEFRE HMORES FR5HHT~R1)
a0 oz 10~ 12)3@7'7'3@15%‘%&!3 1 ?ﬁ%ﬁ@lﬂ%ﬁﬁ%tb%%ﬂl&h
e / : ERY ey
8
15
) 6
10
- 4
- II “ | )
1~~3 H 4~8 H 79 A 10”\42)@ 0 -
N HE(BRE R (e TREAEREO AR (FRBART B
u 2fE mEH

TGS —

AL=RAD) € NAEL

@® O—FE—-LATEITIRESE. H:*ﬂiADiD_,CEIQZIf—Fﬁ 0> |

X EE40F OfBDSTEEHBOERL, FERAOFOMUTDHNGE (6.415)

ik O%&#8X TET Zald. \TE—=L%@ICER !

X AIEOXMEIVRIVMBSICIE, N\ E—=ANDCEHRNE

25 17 IONE #% 55 0D B AN

M) & 22ER

® REIL REMPEFRAMDEREZ TSR |

I ARICEN N -

~NTE-LEO—-E-LOLSTERE~ _ BESTERCEHHRI0—L— LEESD
@jﬁﬁ#zﬁﬁwuﬁi Flas5 EIRERINEERIFNIEE (BESERETH27~R1)
1

= w0 — ¥ — LAEERC LD HITEFHO BIERH27T~R1)
i — ] 9 100M
In =

‘4 100%
TEESTMI40m N - ERAOFOLIT:BEEE 4.6%

- BHRA0FORB BUEE 29.3% 66.7%
ERE S (=1L REB#GD dHXOTF 60%
kmh ZOFEREHE  wIBHEERE
20 mmm 9m — = g 07 S
40 | 22m e 0%
60 | 44m 2.2% 3.4% 2.4% I
80 | 76m 0% —
100 | E— 112m - 10km 10kmi#8  20kmi#8 30km#8 40kmi#8 50kmiB3 60F0O#8
o 5o 20 60 20 106 120m T 20kmILF 30kmLLTF 40kmILF 50kmLLTF 60kmLLF

B R



